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1 Sun motion during an equatorial equinox

Consider observing Sun’s location from a location on the equator an a dey on which Sun
passes directly overhead. :

a) What is the angle through which Sun moves from sunrise to sunset?

b) If this period is divided into exactly twelve hours, then through what angle (measured
from the local zenith) does the Sun appear to move in one hour?

¢) If one hour is divided into exactly 60 minutes, then through what angle (measured from
the local zenith) does the Sun appear to move in one minute?

d) If one minute is divided into exactly 60 seconds, then through what angle (measured
from the local zenith) does the Sun appear to move in one second?

e} How much time passes as the angle measured from the zenith changes by exactly 1°7
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